eRolly 160

eRolly 160

Motorised mobile floor stand

Soporte motorizado de ruedas

Supporto mobile motorizzato
Moottoroitu pydrilla varustettu nayton teline

Chariot mobile réglable en hauteur électriquement

Installation manual
Manual de instalacion
Manuale di installazione
Asennusopas

Manuel d’installation. °

e

=

Seamer2h

eine Marke von




Robolift eRolly 160

(L J 0—
|
L o— | — L] — 1
— —
2
LN
)
|| || o~ |-
: ° @ el o000
1] 1] [ T1
1) o) ©

1020 | ‘ 679,96

847,29




Robolift eRolly 160

CONTENIDO/CONTENTS/CONTENUTO/SISALLYS/CONTENU:
D

Q 8xM6x16mm DIN 912
R, 8xWasher DIN125 A M6
_ 4xM8x16mm DIN 912
(2) 4xWasher DIN 125 A M8
~  4xM8x80mm DIN 912
S
4xWasher DIN125 M8

N

HERRAMIENTAS NECESARIAS/TOOLS NEEDED/ATTREZZ]
NECESSARI/TARPEELLISET TYOKALUT/OUTILS NECESSAIRES:

Javan

J

\




Robolift eRolly 160

4 )

Tool M8
\_ Tool M6

/

Q0 -

Tool M8

Tool M6 g

8xM6x16mm DIN 912 +washer
DIN125 A M6
4xM8x16mm DIN 912 + washer

’i WA DN 125 A M8




Robolift

eRolly 160

Tool M8
Tool M6

4xM8x80mm DIN 912
4xWasher DIN125 M8

~

N Y
fo CALIBRACION MOTOR / MOTOR CALIBRATION h
PRESIONAR 3 SEG BOTON
BAJADA EN POSICION
BAJA / HOLD DOWN
BUTTON FOR 3 SEC IN LOW
POSITION
N Y




Robolift eRolly 160

~




Robolift eRolly 160

Zubehor // Accessory

4xM8x16mm DIN 912
8xWasher DIN125 M8
4xNut M8

Tool M8

CADENA CABLES:
ACCESORIO // DRAG CHAIN:
Accessory

A JON )
Sseo ;
~ -
~~. 0

-
~~~~~~~ = Tool M4
....... 00

-

~
~ ~
~~~~~~
~
~~~~~
~ ~<

~~o
~
-

4xM4xT16mm DIN 912
8xWasher DIN125 M4
4xNut M4




Robolift eRolly 160

M| COVER: ACCESORIO //
M|l COVER: Accessory

Tool M6

4
B E

Ml BOX: ACCESORIO //
Ml BOX: Accessory

Tool M8

2xM8x30 DIN912 + Washer + NuT




Robolift eRolly 160

Electrical and Electronics

aD -

Input: AC 100V-240V, 1.500mA,; Max. Load: 6.000N; P44
50/60Hz

Output: DC29V - 2A

Power Rating 24 DVC, Max: 2AMP

A—/@\

S

Y nf} - Vision24 GmbH Multim., Intern.- u. Inform.
@%m’@ D64560 Riedstadt
JG,C (A5

. Tel. +49 6158 918810
e Email: info@vision24.de






